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QUESTION 1

Given the code fragment: 

What is the result? 

A. invalid 

B. An exception is thrown at runtime. 

C. NULL 

D. Compilation fails. 

E. blank 

Correct Answer: B 

A java.lang.NullPointerException is through at line switch(str) {. 

 

QUESTION 2

Given the interface: 

Which class implements idGenerator in a safe manager, so that no threads can get a duplicate id value during
concurrent access? 

A. public class Generator implements IdGenerator ( Private volatile int Id -0; Public int getNExt Td() | Synchronized (new
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generator()) { return ++id; } } } 

B. public class Generator implements IdGeneretor ( Private int id =0; Public int getNExtId {) { Synchronized (new
generator()) { 

C. return ++id; } } } 

D. public Class Generator implement IdGenerator ( privateAtcmicinInteger id - new AtomaticIntegger (0); public int
getNextId{} { return id. Increaseincrasement AndSet{) ; } } 

E. public Class Generator implement IdGenerator ( Private int id =0; Public int getNextId { ) { Synchronized (id) ; return
++id } } 

F. public Class Generator implement IdGenerator ( Private int id =0; Public int getNextId { ) { Synchronized (id) ; return
++id } } 

} 

Return ++id; 

Correct Answer: C 

 

QUESTION 3

Given: and the code fragment: 

What is the result? 
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A. [Java EE:Helen:Houston] [Java ME:Jessy:Chicago, Java ME: Mark:Chicago] 

B. Java EE Java ME 

C. [Java ME:Jessy:Chicago, Java ME:Mark:Chicago] [Java EE:Helen:Houston] 

D. A compilation error occurs. 

Correct Answer: B 

Grouping on course. Print each course. 

 

QUESTION 4

Given the code fragment: 

Which two code fragments, when inserted independently at line 6, enable the code to print true? (Choose two.) 

A. boolean b = nums.stream() .noneMatch(n -> n==20); 

B. boolean b = nums.stream() .filter(n -> n == 20) .allMatch(n -> n == 20); 

C. boolean b = nums.stream() .filter(n -> n == 20) .noneMatch(n -> n == 20); 

D. boolean b = nums.stream() .map(n -> 20) .noneMatch(n -> n == 10); 

E. boolean b = nums.stream() .allMatch(n -> n == 20); 

Correct Answer: BD 

 

QUESTION 5

Given the code fragment: What is the result? 

A. All files and directories under the home directory are listed along with their attributes. 
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B. A compilation error occurs at line n1. 

C. The files in the home directory are listed along with their attributes. 

D. A compilation error occurs at line n2. 

Correct Answer: A 
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